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2020
BUSINESS MATHEMATICS AND STATISTICS — GENERAL
(C3HG)

Paper : GE-3.1/Chg
Full Marks : 80

Candidates are required to give their answers in their own words
as far as practicable.
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The figures in the margin indicate full marks.

Module - I
Group-A

Answer any five questions. 2x5

. If log)y2=p, then the value of logy5 is

1
(a) — b 1-p (c) p-1 (d) none of these.
p
If log,8=1log, 64, then x =
(a) 3 (b) 2 (c) 1 (d) 4.
. If geometric mean of two numbers is 10 and one number is 5, the value of other number is
(a) 20 (b) 10 (c) 15 (d) 5.
1 2n
. Middle term of (x+—j is
X
(2n)! @n)! (2n)! (2n)!
—_— b — d —.
. Sum of all binomial coefficients of (1 + x)?" is
(a) 2" (b) 2"-1 (c) 4" (d) 4"-1.
. For two non-empty sets 4 and B; (A—-B) N (B—A4)=
(a) A (b) B (c) AuUB (d) ¢1
" C,.+ " C.,=7?
(a) "1C,_, b "'c, ©) "C,..; @ "*c..
. What is the compound interest of ¥ 1,000 for two years at 3% compound interest per annum compounded
annually?
(a) ¥70.50 (b) ¥60.90 (c) ¥60.50 (d) ¥70.90.

. If m*np, =90 and " "Py =120, then m and n are respectively

(a) 8,2 (b) 2,8 () 3,7 ) 7,3.

loga logh logc
q-r r—p p—4q
(a) 0 (b) 2 (c) 1 (d) 3.

If , then the value of a?bic” is
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Group - B
Answer any ten questions. 3x10
12
The term free from x in the expansion of (xz +—j is
X
(a) 495 (b) —495 (c) 459 (d) 594.

Four sets P, O, R and S are given as P = {x:xz -9=0}; 0=1{3,0,-3}; R={3,-3}; S=¢.

Which of the following statements is true?

(a) P=0 (b) P=R

(c) P=S (d O=R.

Out of 13 cricketers only 4 can bowl. In how many ways can a team of 11 be selected so that the
number of bowlers is not less than 3?

(a) 85 (b) 36 (c) 72 (d) None of these.

A sinking fund is created by a company for replacing some machineries worth ¥ 1,00,000 after 25 years.

How much should be set aside from profit each year, if the rate of compound interest be 9% per
annum?

[Given log 1-09 = 0-0374 and log 8:610 = 0-935]
(a) T1185.77 (b) T1182.65
(c) ¥1180.65 (d) None of these.

A man has 6 friends. In how many ways may he invite one or more of them in a dinner?

(a) 63 (b) 64 (c) 15 ) 30.

If a set A has 4 elements and a set B has 6 elements, then the minimum number of elements in a set
(A U B)is
(a) 6 (b) 4 (c) 12 (d) 24.
If A={l1,2, 3,4}, B=1{3,4, 5} and C = {1, 4, 5} then the value of A — (B U C) is
(a) {2} (b {1,2} (c) {2,3} (d {4,5}
If the number of terms in (1 + x)” be 11, then the value of 5th term is
210
(a) — (b) 210x* (c) 105x3 (d) 210x%.
X

Using Binomial theorem the value of (99)% is

(a) 9,60,59,605  (b) 9,60,59,601 (c) 9,60,58,601  (d) none of these.
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The val flog2 + 161 E+121 £+71 L
e value of log og15 g5, 0g80 is
(a) 0 () 5 () 1 (d) 2.
If loggx = — 3, then the value of x is
1 oL 1 oL

The present value of Rs. 12,625 due is 4 years at 6% p.a. compound interest [Given (1.06)% = 1.2625]

1S

(a) Rs. 8,000 (b) Rs. 12,000 (¢) Rs. 10,000 (d) Rs. 9,000.
In what time will 6,500 amound to Rs. 11,180 at 6% p.a. simple interest?

(a) 10 years (b) 12 years (c) 9 years (d) 6 years.

If 14Cr = 14Cr+2, then the value of r is

(a) 12 (b) 6 (c) 7 d) 14.

The number of numbers greater than 7,000 can be formed with the digits 3, 5, 7, 8, 9, no digit being

repeated is

(a) 120 (b) 192 (c) 60 (d) none of these.

Module - II

Group - A

Answer any five questions.

If n(4)=2, n(B)=3 and P(A%B) is the power set of AxB, then n(P(AxB))="?
(a) 8 (b) 16 (c) 32 (d) 64.

Two attributes 4 and B are positive association if

(Dx(B) Ax(B)
@) (4B)>~= = (b) (4B) <=
(c) (AB)=%N(B) (d) None of these.

If bxy= 0-6, r=0-9 and ©_= 6, then variance of x is
(a) 9 (b) 16 (c) 81 (d) 4.

2x5
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33.

34.

35.

36.

37.

If two regression coefficients are respectively —0-9 and — 0-4, the correlation coefficient is
(a) £06 (b) 06 (c) =036 (d) —0-6.
If 4 and B are two independent events, then which is false?

(a) 4 and BC are independent (b) A€ and B are independent
(c) A€ and BC are independent (d) None of these.

The arithmetic mean of Laspeyres’ and Paasche’s index numbers is known as
(a) Bowley’s price index (b) Walsh’s price index

(c) Fisher’s price index (d) Kelly’s price index.
Components of time series are mainly of

(a) three types (b) four types

(c) two types (d) five types.

The period of seasonal variation is

(a) one year (b) two years

(c) less than or equal to one year (d) more than two years.

Find out Spearman’s rank correlation coefficient when >D2 =50 and N=20 (Approximate up to two

decimal places).

(a) 096 (b) 099 (c) 092 (d) 0-93.
If A and B are mutually exclusive and exhaustive events and P(4) = 0-3, then P(B) =
(a) 06 (b) 07 (c) 0:65 (d) 08.
Group - B
Answer any ten questions. 3x10

If consumer price index number changes from 100 to 150 and salary of an employee was ¥ 20,000.
In order to maintain same standard of living, what should be his expected salary?
(a) ¥40,000 (b) 30,000 (c) 25,000 (d) ¥35,000.
Using the following data
Commodity 2010 2018
Price Quantity Price Quantity

A 8 20 12 30

B 12 30 8 40

C 16 10 20 6
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Fisher’s Ideal Price Index Number for the year 2018 with 2010 as base year is
(a) 10527 (b) 88:34 (c) 99-01 (d) 112-5.

Calculate Pearsonian coefficient of correlation between advertisement cost and sales as per the data
given below :

Advertisement cost in 39 65 62 90 82 75 25 98 36 78
< ’000

Sales in I Lakh 47 53 58 86 62 68 60 91 51 84

(a) 0-87 (b) 078 (c) 178 (d) —0-78.

An article manufactured by a company consists of two parts 4 and B. In the process of manufacture
of part 4, 9 out of 100 are likely to be defective. Similarly, 5 out of 100 are likely to be defective
in the manufacture of part B. Calculate the probability that the assembled article will not be defective.

(a) 0-8455 (b) 0-8546 (c) 0-8645 (d) None of these.

From the following series of observations, calculate 5-yearly weighted moving average with weights
1, 2, 2, 2, 1 respectively for the years 2015 and 2016 are :

Year 2009 | 2010 | 2011 | 2012 | 2013 | 2014 | 2015 | 2016 | 2017 | 2018 | 2019
Annual sales (X *000) 2 6 1 |'5 3 7 2 6 4 8 3
(a) 4-875 and 5-125 (b) 4-625 and 5-125
(c) 4-375 and 4-625 (d) 4-625 and 4-875.
Following data is given :
X 1 2 3 4 5
y 6 8 11 8 12
The regression equation of y on x is
(a) y=12x+54 (b) y=34x-178
(¢) 2x+3y=18 (d) y=4-6x+21-4.

If oy = 0-6, cov(x, y) =12 and c,= 5 then the value of o, will be
(a) 6 (b) 5 (c) 4 (d 2.

If the regression equations are 5x — 2y — 4 = 0 and 7y — 4x = 13, the value of x & ¥ will be
(a) 2,3 (b) 3,2 (c) 4,6 @ 8, 12.

Consumer Price Index indicates

(a) Rise (b) Fall (c) Bothofa&b (d) none of these.
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45.

46.

47.

48.

49.

50.

If Laspeyre’s and Paasche’s Price Index number are 120.84 and 124.66 respectively, then Bowley’s
Price Index will be

(a) 102.75 (b) 122.75 (c) 120.75 (d) 245.5.
In time series analysis, which source of variation can be estimated by the ratio-to-trend method
(a) Cyclical (b) Irregular (c) Seasonal (d) Trend.
Three unbiased coins are tossed. The Probability of getting at least 2 tails is

1 o1 1 oL
The Probability of getting a sum 9 from two consecutive throws of a dice is

1 o1 1 o L

3 5 3 .

If P(4)= 3’ P(B)= 3’ P(AUB) :Z , then the value of P(4/B) is

3 L2 1 N

The regression equation of y or x from the following values is
x=10, y=15 and by, =2.50

(@) y=-25x-10 (b) x=2.5v-10
(c) y=25x-10 (d x=-2.5y - 10.




